EAHE  BEERME FEGER  GEEL. GATSHE ATSHE  HEETEE L
A N = 3 A
S g OB 7777777 wrs |12 T |[g [BRE &0
éﬁfgf — Sl FIRIE R e #ﬁubaﬁém 4:%@1@& Zihig L < 8 &
7 AL 5 ® AL 90k |LE | 50K 71139 U 71141 7 7
LA P JRERE T B | 80k |l F | 40% . . MATH
* K:Zﬁm“ﬁmgmﬁ%mm QZ;Q“ Z[ﬁ CLT0b NG S0k | N
” 140 ] it D | 60% " 147 M&E) ” 140
= 7 T T/ T T =
o " S w/ / / ~. "/ RN ~
AN ’ N e (NG S/
7 N A AN SyRE e NN/
LT N ~ > / \\v\m . i/ 115

39

/(145E

N\ ~vAmeTE Ny

N

/'/

EEI

145E
Q.

\

N
145E
145E

)

S

o/
//A\\\

\/ \\
yosa N
R

804 o

145E

1 4§\

BN >

RAT




